

Θέμα 36

A1. $\lim_{x \rightarrow 0} \left(\frac{g(x)}{x}\right)^2 + (g''(0)-2)^2 = 0 \Leftrightarrow \lim_{x \rightarrow 0} \frac{g(x)}{x} = 0$ και $g''(0)-2=0$

$g(0) = \lim_{x \rightarrow 0} g(x) = \lim_{x \rightarrow 0} x \cdot \frac{g(x)}{x} = \lim_{x \rightarrow 0} x \cdot \lim_{x \rightarrow 0} \frac{g(x)}{x} = 0 \Leftrightarrow g(0) = 0$

$\lim_{x \rightarrow 0} \frac{g(x)}{x} = \lim_{x \rightarrow 0} \frac{g(x)-g(0)}{x-0} = g'(0) \Leftrightarrow g'(0) = 0$

A2. $g''(0)-2=0 \Leftrightarrow g''(0)=2$

A3. $|g''(x)-g''(x_0)| \leq (x-x_0)^2 = |x-x_0|^2 \Leftrightarrow \left| \frac{g''(x)-g''(x_0)}{x-x_0} \right| \leq |x-x_0|$

$\Leftrightarrow -|x-x_0| \leq \frac{g''(x)-g''(x_0)}{x-x_0} \leq |x-x_0| \left\{ \begin{array}{l} \text{κ.π} \\ \Rightarrow \lim_{x \rightarrow x_0} \frac{g''(x)-g''(x_0)}{x-x_0} = 0 \text{ Άρα } g'''(x) = 0 \end{array} \right.$

$\lim_{x \rightarrow x_0} (-|x-x_0|) = 0$ και $\lim_{x \rightarrow x_0} (|x-x_0|) = 0$

τότε $\left. \begin{array}{l} g''(x) = C \\ g''(0) = 2 \end{array} \right\} \Rightarrow g''(x) = 2$ τότε $\left. \begin{array}{l} g'(x) = 2x + C \\ g'(0) = C \end{array} \right\} \xrightarrow{C=0} g'(x) = 2x$

τότε $\left. \begin{array}{l} g(x) = x^2 + C \\ g(0) = 0 \end{array} \right\} \xrightarrow{C=0} g(x) = x^2, x \geq 0$

B1. $(1+g(x))f'(x) = x$ για $x=0$ $f'(0)=0 \Leftrightarrow f'(0)=0$

B2. $(1+g(x)) \cdot f'(x) = x \Leftrightarrow (1+x^2)f'(x) = x \xrightarrow{x^2 \neq 0} f'(x) = \frac{x}{x^2+1} \Leftrightarrow f(x) = \left| \frac{1}{2} \ln(x^2+1) \right|'$

Άρα $f(x) = \ln \sqrt{x^2+1} + C \left\{ \begin{array}{l} C=0 \\ \Rightarrow f(x) = \ln \sqrt{x^2+1}, x > 0 \end{array} \right.$
 $f(0) = 0$

$\lim_{x \rightarrow 0} \frac{2(e^x-1) \cdot f(2x) - x f(x)}{e^x-1} = 0 \Leftrightarrow \lim_{x \rightarrow 0} \frac{2e^x f(2x) + 2(e^x-1) \cdot 2f'(2x) - f(x) - x f'(x)}{e^x} = 0 \Leftrightarrow 2f(0) - f(0) = 0$

$\Leftrightarrow f(0) = 0$ Άρα $f(x) = \ln \sqrt{x^2+1}, x \geq 0$

B3. $f'(x) \leq \frac{1}{2} \Leftrightarrow \frac{x}{x^2+1} \leq \frac{1}{2} \Leftrightarrow x^2+1 \geq 2x \Leftrightarrow (x-1)^2 \geq 0$ Προφανές

B4. Αν $a=b$ Προφανές

Αν $a < b$ ΘΜΤ $[\alpha, \beta]$ έχουμε $\xi \in (\alpha, \beta)$ τέτοιο ώστε $f'(\xi) = \frac{f(\beta) - f(\alpha)}{\beta - \alpha}$

$2f(\beta) - 2f(\alpha) \leq \beta - \alpha \Leftrightarrow \frac{f(\beta) - f(\alpha)}{\beta - \alpha} \leq \frac{1}{2} \Leftrightarrow f'(\xi) \leq \frac{1}{2}$ Προφανές

B5. $f'(\xi) \leq \frac{1}{2} \Leftrightarrow \frac{1}{2} \frac{\ln(b^2+1) - \ln(a^2+1)}{b-a} \leq \frac{1}{2} \Leftrightarrow \ln(b^2+1) - \ln(a^2+1) \leq b-a \Leftrightarrow$

$\Leftrightarrow a - \ln(a^2+1) \leq b - \ln(b^2+1) \Leftrightarrow \ln \frac{e^a}{a^2+1} \leq \ln \frac{e^b}{b^2+1} \Leftrightarrow \frac{e^a}{a^2+1} \leq \frac{e^b}{b^2+1} \Leftrightarrow (b^2+1)e^a \leq (a^2+1)e^b$

Γ. $f(x) = g(x) \Leftrightarrow f(x) - g(x) = 0$, θεωρούμε $h(x) = f(x) - g(x)$

$h'(x) = f'(x) + g'(x) = -\frac{x(2x^2+1)}{x^2+1}$

ενίση $f(0) = g(0) = 0$

$f'(0) = g'(0) = 0$

x	$-\infty$	0	$+\infty$
h'	///	0	-
h	///	0	↘

Άρα μοναδική ρίζα $x=0$